\ (0D
(00101

43-0005)

41-0018)

SAFETY LIP FOR CAPSTAN DRUM 57 MM & 85 MM

COUPLING SHAFT FOR ELECTRIC DR AIR MOTOR

GUARD PLATE PCT1800-50Hz

GUARD PLATE PCT1800-50Hz

HANDLE ADAPTOR PCT1800

INPUT PINION

WINCH HANDLE

BUSHING FOR SAFETY HOOK

nosEeNwr RS

RETAINING WASHER (1/4 X 1-1/40D) - 2N

AOPE KEEPER

‘SHOULDER BOLT 5/8X 1-1/2 - IN

CABLE HOUSING BRACKET

HCS 1/2-13 X6 - GRS - 2N

HCS 1/4-20 X 2-1/4 - GRS - IN

HCS 3/8-16 X 1-1/2- GRS - IN

HCS 3/8-24 X1 GRS -ZN

BHCS 1/4-28% 1/2 - IN

BHCS 1/4-20X1-55

SHCS 5/16-18X 1-3/4 - 55

SHCS 1/4-20% 3/4 - 55

HEX FLANGE SERRATED BOLT MG-1X 12 MM - ZN

NUT /213 NTLON -2

FLAT WASHER 1/2 -ZN

FLAT WASHER 1/4 - ZN

FLAT WASHER 3/8-2N

LOCK WASHER 3/~ ZN

OlLPLUG 3/8-2N

TAPPING SCREW - SLOTTED HEX WASHER HEAD - TYFEB - 10-16 K 1/2
CABLE END

THROTTLE CABLE ASSY PCTL800

PLUG 15A-125V - 2 POLES- 3 PRONG - SPLASHPROOF & DUST-TIGHT
PLUG CEE 7/7 - 250V - 16 AMP GROUNDED

KEY FOR COUPLING SHAFT {3/16 X 3/16 X 7/8)

KEY FOR INPUT PINION (3/16 X 1/8 X 3/4]

KEY FOR CAPSTAN DRUMS 57 MM, 85 MM, 108 MM [5/16 X 1-1/4)
VINYLGRIP -

RGS - ATTACHMENT ASSEMBLY

RGS - PIVOTING ASSEMBLY

ELECTRIC BOK ASSEMELY [230V) o .
ELEC. MOTOR VL3506-50 - 3/3 HP - 220 VAC-50Hz - 1 PH - TEFC - 2850 RPM
CAPSTAN DRUM 85 MM

ROPE GUIDE FOR CAPSTAN DRUM 85 MM

CAPSTAN DRUM 57 MM

TROPE GUIDE FOR CAPSTAN DRUM 57 MM



